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453 + 312 — 13x— 40 = 0 56 +21x% — 50x+ 24 = 0
X —10x* +27x— 18 =0 X =3¢ —28x=0

X +5¢ —6x=0 2 +29x% + 80x — 192 = 0
X+ 6 +8x=0 X+ 10x* — 11x— 180 = 0
CH 132+ 545+ 72=0 X+ 143 +9x—324=0
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43+ 312 —13x—40=10

x:

5
-, —8,—1
4

X — 10X +27x— 18 =0
x=63,1

CH+5¢ —6x=0
x=-6,1,0

C+6F+8=0
x=-4,-2,0

XA+ 132 +54x+T72=0
x=—4,-3,-6

HIZh:

50 + 212 = 50x+24 =0

x:

A

, 76,1

X =3¢ —28x =0
x=-4,7,0

253 4+ 29x* +80x — 192 =0
3

—,—8,—8
2

x:

X+ 10x°> — 11x— 180 = 0
x=4,-5-9

X+ 14x° +9x— 324 =0
x=-9,4,—9
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